

Apartment in Zabbar



Zabbar, South



€319,000

Reference No: 240461048-148

 Total Rooms: **7**

 Floor Area (m²) : **105**

 Bathrooms: **2**

 Bedrooms: **3**

Apartment - For Sale - Zabbar

ZABBAR - APARTMENT - In a very good location and a quiet residential area comes this small block of 4 units. The layout consists of a large Open Plan - Kitchen/Dining/living area, 3 Bedrooms main with En-Suite & Walk-in wardrobe, and a Main Bathroom. The property is freehold and will be sold finished excluding doors and bathrooms. For more info kindly contact your preferred agent.

Features

- ✓ Ceramic Floor
- ✓ Walk in Wardrobe
- ✓ Water Utility
- ✓ Soffit Ceilings
- ✓ Double Glazed
- ✓ En Suite
- ✓ Entrance Hall
- ✓ Electricity Utility
- ✓ Skirting
- ✓ Balcony

Rooms

- ✓ Kitchen/Living/Dining : 10.01 x 3.74 m (37.44 m2)
- ✓ Double Bedroom : 4.36 x 3.5 m (15.26 m2)
- ✓ Double Bedroom : 3.81 x 3.31 m (12.61 m2)
- ✓ Double Bedroom : 4.92 x 2.71 m (13.33 m2)
- ✓ Walk In Wardrobe : 1.66 x 1.5 m (2.49 m2)
- ✓ Hallway : 5.72 x 1 m (5.72 m2)
- ✓ Bathroom : 2.22 x 2.55 m (5.66 m2)
- ✓ Shower Ensuite : 2.22 x 1.63 m (3.62 m2)
- ✓ Open Space : 4.59 x 1 m (4.59 m2)
- ✓ Open Space : 3.05 x 1 m (3.05 m2)
- ✓ Open Space : 1.5 x 1 m (1.5 m2)

Gallery







Josianne Camilleri

RE/MAX Professionals - Mosta

M: 79050767

E: jcamilleri@remax.com.mt

T: 27998977

RE/MAX Professionals - Mosta

24, Vjal L-Indipendenza, Mosta, Malta